B AT e — PR IR B AT S . 8 i is B4 . AT LA S B0 A A ml R B B (E PR AT 4R A
ALAF (B G A {EE’JEA{W&{EE’JA%C ﬁa})\ﬂiﬁﬂilﬁ’]mﬁ{ﬁ 2 WATIT AR RS
RBFAT KR BEA EHEE R = o0ia JAT L IX s BT

3.1 BMEEZESF

WAE 2 AT =" Rk b dh A sl % — A A A9 . A 3. 1 R, A8 4 str J
ﬁﬂ'&tﬁ@ﬁfﬂﬂﬁ%&ﬁ?ﬁ%"Hello,playground A7 newStr i i W {H 12 775 1)
I g str (A .

var str = "Hello, playground" "Hello, playground"
var newStr = str "Hello, playground"

16t (a;b;:c) = €1;2:3)

print(a) "1\n"
print(b) "2\n"
print(c) "3\n"

A 3.1 mAEiE F A4

JUZH A AT LA i WA S AT 0 P i BT A 0 R — PR (EL . 48] 3.1 vz, e
H(as b o) BRI ALIRAE S (1,2,3) A2 T acbie 0 BIBORAE Y 1.2.3,
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3.2 BREEH

Swift H AT B RO S RUAR S A5 F ZE AR B O Sz B3 i () ik () TR Cx ) (BR
(o 3.2 ST PIABERIE i a Al b ARJSITEDHY a F1 b FEAT PUME A S5, 7
A H3 ST AT LAAR s BT 65 9 B — A7 B9 74 5 38 3 R 2 o R 5

var a : Int = 8 8

var b : Int = 2 2
print(a+b) "10\n"
print(a-b) "6\n"
print(axb) "16\n"
print(a/b) "4\n"

var strl : String = "Hello," "Hello,"

var str2 : String = "world!" "world!"
print(stri+str2) "Hello,world!\n"

B 3.2 el R RFRE A

3.2.1 RRIEEF

KAV BT V0 BB AE AT HOT B BN B BR S AT R, H SRR R R Ay
BB NE 3.3 s

var a : Int = 9 9
var b : Int = 2 2
a%b 1

B 3.3 REEBHM

3.2.2 BHAREEHN

Swift 4 H L5 T RURTRRCA o B A 352 AT+ 7 F A s A — — 7 Bami AL
ZHYJE =T — =7 R A/ A s BT R N C R E RS ok L TR R L
BRI W2 AR . 35 ARGERAT “++7 AT for HHEA . MWAE
Swift 4 1. for-in fE L5 E R A HFTZMEH++77T .
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Swift 4 Hg A/ A Bas 5AT s B E 3. 4 Fror .,

var a = 3 3
a+=1 4
let b = a 4
a-—=1 3
let c = a 3

B 3.4 Swift4 ¥4 a3/ 8 8EFHT 6

3.3 XREEF

oK FRIB SLAF R F R LB WA 22 18] OC & 138 AT L 38 S 85 B N A KA BD true
W false, XRBAEFEUEET (== AETU=). KT /NFE . KRFH
HEF (=) NFEHETFT (=), WK 3.5 iR, & LR a.b. IFFRPIE. R )5 AT
FMXREBE BHERERELAN., XRBHEMFWBHEGER WA IRME. L XEREZ
A T AR A

var a = 3, b=6

a==6b false
al=b true
a> b false
a< b true
a>b false
a<=b true
if a==0b {

print("a is \(a), b is \(b), they are equal.")
} else {

print("a is \(a), b is \(b), they are not "ais 3, b is 6, they are not equal'\n"

equall™)

}

B35 XZBHEHF



Swi
Wiftsrinzimsa

3.4 EBEEHEF

BB RS (& &) B D AR BRIEBC AR AL,
AR — s AT IRAERON 1A AR 3. 1.

®3.1 BEFEEEER

a A K E Va ()70 JRE
true false
false true

P 3. 6 5 ST HUAT I GRS AL B on, WIIR(E N false, RIRIRIT G o 18 if #54)
L g Lon JI KT R R 5G4 L A SRR L T EDAR A5 2L

var on : Bool = false false
if lon {

print("the light is off") "the light is off\n"
}

B 3.6 ZHEZEHLH
B 5 T Inis BT RO 2 4 AR N R 8. 2.

®3.2 BESEHFEER

a [ A JR (8 b B A IR fH al &b A /R 1A
true true true
true false false
false true false
false false false

Bl 3.7 & SCT #5 H AT HF OC Y bR R W AR AT S8 4 Bl o A R B B
sunshine (F/RJE A H K) Hl indoors RN BB R BA N . Fon BT H XAy A /R 48
o4 onson fy true WA BHOE. I H R B A A, ¥ sunshine TRy false, 3
ARBEA PG, [ 4 indoors MUE K true, Ron KB A N, 8 K%L lightControl O,

N
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#7% & sunshine 1 indoors & A, ¥l 5 09 % H 45 8 R “turn light on”, BIFTIF AT,

var on : Bool = false false

var sunshine : Bool
var indoors : Bool

func lightControl(sunshine:Bool,indoors:Bool) {

on = (!sunshine)&&indoors true
if lon {
print("turn light off")
} else {
print("turn light on") "turn light on\n"
}
}
sunshine = false false
indoors = true true

lightControl(sunshine:sunshine, indoors:indoors)
B 3.7 wITFXiEH(EHE)
AR EE ZInis FAT RAERURE 2 A BER R 3.3,
*3.3 BEFEEFEER

a f AR R H b #45 /R1H al |b By /R1E
true true true
true false true
false true true
false false false

GnTEl 3. 8 Pz  JH 32 B E e B L AT T G Y D RE L 7 BN 1 A AR A R B 2
B it 4 on BN off. 2 off Oy true BYMFREIR IIZ AT . K on (Y2 5 %Kk
off 1y 4 K IK 3 BR/RA B I I, 5l B AER B e AT 6 T . B as Ay
Bk A5 R — B0, w LA L 28R 5 R0 el 3R 0k SR R DL R AT 2 8 5E A B
Bt
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var off : Bool = false false

var sunshine : Bool
var indoors : Bool

func lightControl(sunshine:Bool,indoors:Bool) {

off = sunshine || (!indoors) false
if off {
print("turn light off")
} else {
print("turn light on") "turn light on\n"
}
}
sunshine = false false
indoors = true true

lightControl(sunshine:sunshine, indoors:indoors)

B 3.8 wIT I &A= (4R

3.5 =xEEH

R

R4 T 24 —ns BT M —oniz WA AR A 4 —Fh = Jniz AT B = o 4%
HIZ AT
FMIBEAA 3 BN

question ? answerl : answer?2

HiE XN 05 question N true, W3R [B] answerl ; 75 W3R [B] 2RIA{H answer?2,
bR b =otis BT R RS 2, ok 5 TR Y i 35 A S

if question: {
answerl
} else {
answer?2
}
3.9 X T 3 4% &= pageHeight. contentHeight. bottomHeight, 43 5l 3 78 71
T R IR SCIN A IR &, AN IS E LT — A /R B AR i hasHeader, H 2k
FEN DU R B B S — AL RS . LI B R DE SO A R LR SRR e R R Sk A
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FEAMAS R, 402 hasHeader 24 true B, Sk AL $2 BE 30 B, 75 W) Sk 3042 4% IR 10
B B AT LA i =0T s A B S

let contentHeight = 100 100
let bottomHeight = 20 20

var hasHeader = true true
let pageHeight = contentHeight + bottomHeight + 150

(hasHeader ? 3@ : 10)

B/ 3.9 =an&HEFHg

S ICSRANIE AT T L] I s A AR e — 1R BRI A R s AT Y Bk
MR BEMER 2E o L ERIA B AR AL 2 B R AN O R s AT .

3.6 XEEER

X [11) 32 5349 421 45 PAT 1X. 8] 3 5540 A~ A IX i) 38 4

P X )32 B AT a. .. b FR— M a £ b 59 B B 60 X 8] (AL 96 a A1 b) . A IX ]38
ARG E A PR . anlEl 3. 10 TR, 7 for-in ¥R, A5 & 1 B 0~ 3 ({E (2
5 0.1.2.3) JME AT 4 K.

P X B AT a . <b #aR— M a B b B FTA 0 X 8] L35 a, (HAS 4 45
b), WA 3. 11 . 7€ for-in fEFR A8 5 1 BUE K 0.1, 2, FEFR AT 3 1K,

for i in 0...3 { for i in @..<3 {
print(i) (4 times) print(i) (3 times)
} }
A 3.10 B R EiE f A B 3.11 for-in #A3R
== s
AEMIR S

REEANLT 6 JW FHRIE AT . 70 50 N WAE 2 S04 AR B 54T O sl Tl Bk oK
RVEELABED CKRBEMSET ASETORTNTORTHET NTEET) 2
Lo R S TN AN (SO NN v g £ 1 O a8 1 e A i 8 1 e A S | S N [
XD



TR HA P FINES . T H RS 3 BT R — A AR R 2 K 26
B A S P S B i R 4R ZRUE B AR LU A R e N B, i AE B
BN RARE B ARG T H A E L RAE R,

4.1 FRHREHEX

4.4.1 FHFMERFSH

HAPLARZ TR F 2N 0/1 FR i . TR LR B 47 I o 2 30 o off g 3 %
NIRRT I B S . 8 CF AT GBS Character o8, FAF A H BRI A7 — 1
TRLEERZA TR E TSR, PSR -AAFTARES . String
KEETFHRR, B4 1EXT 3T E. 28T/ P MRS . S5 30T X
AT B AT H o SO AT B B e R e i A S . S AR Tk

1o S LA T X 3 T2 e A R AT R R AT A A PR D 3 A A TR Y T
{ELAR 2 HIXLG 5" " S B

let characterAlphabet: Character = "a" "a"
let characterNumber: Character = "9" e
let characterOperator: Character = "x" e
let str = "ax9" "a*9"

BAl FHRTHENENR



$4E FHHE Chapter 4

4.1.2 ZITXAHME

5 B A Z AT ORI L Swift 4246 T —MREERY 7L . WA 4.2 PR i = E XL
G105 AT LUK 2 A7 SCA $ IR R AT A% Ul A R IRE 45 — D 7 A 8w i

multilinesString,

let multilinesString = """
Do the most simple people,
the most happy way:
We often heart will feel tired, just want to too much;
We always say life trival, is actually I don't understand taste;
Our business is busy, often is not satisfied;
We are always competitive, is actually his vanity is too strong.
Don't compare, heart is cool, life is so simple.

print(multilinesString)

B 4.2 Z47LARGRMA

4.1.3 FHHEBHL

oy A AT I R RO 2 e T 3 AT R W AR MR SRR 38 2D B N AT
KE., B 4.3 28X THADFA AR emptyStr fl anotherEmptyStr, H H1 emptyStr
(9900 s A S 10 ek B 2 WA 25 4 R SR  anotherEmptyStr 23 i String O 52 8E
P RSCR — B

var emptyStr = ""
var anotherEmptyStr = String()

n

IR AL A5 83 )5 o AT LU i 45 58 19 07 1. isEmpty £ 2 FAF B 45 25, Qg 4. 4
fis .

if emptyStr.isEmpty {
print("This String is empty") "This String is empty\n"
}

B4.4 =FFBHHE
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4.1.4 @EHEE

FATER SRR AER R . X AT R AL AT B N R AT R B (AT
T A AT AR B AR R ITRE T — A A S )R A e O
T AT Ef L 55 A T AF R 3 0L T (8] B8 A A s ). DR P R TR A 5 4 S AR
P (ELAN 2 Bt 5 0 D 19 5 A e A o Py e AR T PR A

WP 4.5 Fras 0 AT AR str2 W{EDY strlo str2 MR i &2 ] strl i fE
FRENA A RGN AE AP 3K A ] B9 7 A 3 23 00 77 68 78 A [R) f A7 il 25 i) L. ORE str2
AN "hello China"J&  HUE B TR str2 B INAF R IT  strl BI(EAR Z AL 520

var strl = "hello world" "hello world"
var str2 = stril "hello world"
str2 = "helllo China" "helllo China"
print(stri) "hello world\n"
A 4.5 MEEA
%@
Lo JE SCWAS 4 8RS B, 43 ) 368 R 2 44 B2z e 44 31 TR 7 =X ) 1R 18
EE T
2. TR 1 ARy HEAl EAIWr7 e R m oA . AR s WATER SR 15 B 2R A

=S AT B ARG 24 BE 4

3. TSR 1 MR LR b 25 R 140 WA — A RAR B AL 44 . AR IR 2 7
USRS == WAT EPAR s £ B 5 AR D 2, I 3T B i 1 44

A (ESS 3 U FEAN b SC— B i 7 AT H3 8 B myUniversity I8 3 8 K=~
KA WAE 47 myUniversity, 3TE1 3 8 A HE44 Fl myUniversity . 85 #% myUniversity
WA N " Tsinghua University" . #1244 FTED Ok . FE B UET ED B9 45 58 L OF 3t
WA

/

HE

4.2 FHHEOBRE

N R ILAE R AT # 5 ik
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4.2.1 BHFHFEH

e Swift w7 745 8 2 AR R 00 S R 2l AT Y characters J& 1
Vilalo W 4.6 s A0SR B AT B P R T AT 8 for-in 4 R LR R T AT
AR B i) RLARAT 7 H AT R ) A AT

var welcomeString = "Hello, world!" "Hello, world!"
for charInString in welcomeString {

print(charInString) (13 times)
}

H4.6 ®HFHE

4.2.2 FHEMG
WE 4.7 frs s B4R i E AR A FEAF B0 countO 7k RITAT,
let countString = welcomeString.count 13

B 4.7 FHRHEGGT

4.2.3 FHEWEREE

AT HR RN AR AT DL S B S AT () AT B AR B — AN H A
i 4.8 i,

var strl = "Hello" "Hello"
var str2 = “World“ "world"
var characterl
var character2

" W
" 3
wpn npn

let newString = strl + characterl + str2 + character2 "Hello,world!"

H4.8 FHEEH

4.2.4 FWNFHH

AR E ) — AR R PSR — R A, A LR A% U\ (constantName
or variableName) ., U1K 4.9 i, 2R # 4 insertedNum I{E B A B F45 £,
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let insertedNum = 888 888

let insertedString = "The number \(insertedNum) is "The number 888 is inserted into this string!"
inserted into this string!"

B/ 4.9 HwAFHP

4.2.5 FHEWKNMNE

AN AT DL T A R B9 7 1% uppercased O il lowercased O 43 5| BUAS 2 455 &2 Y
KEH/NG A, G 4. 10 fis,

let theString = "It's my world!" It's my world!

print("the uppercaseString is \(String(describing: the uppercaseString is (Function)\n
theString.uppercased))")

print("the lowercaseString is \(String(describing: the lowercaseString is (Function)\n

theString.lowercased))")

B4.10 FHBHKRNE

4.2.6 FHHBEERSI

TR AT AT LUl S AT R R SR, R A g R TR S P AT R T —
FBCHR Ay R R T Swiife (AT B R G K — FP AR IR 126 B String. Index, X fli 13 5 4F
ARG OGRS A — 2

BRI AT H T AL A T AT 7 e RIS PR R AL B R R ] A
TR E B R . B 4. 11 8 ST — D FAF R & courseTitle, R AFIRTE 4 L JF
WA A " Swilt" . SRJE il 45 BB A9 J7 1k startIndex O 2R 153 F4F H 9R B A E R 5
FEMRAE 25 5 & firstIndex, B W ZE K K String. Index, % /)5 . id firstIndex 3k B &F
PR IR A B A S

let courseTitle = "Swift" "Swift"
let firstIndex = courseTitle.startIndex String.Index
let firstCharacter = courseTitle[firstIndex] eSS

H4.11 FHEAREEE R

X BRI B TR A R RS — A AT L T A R R A SR AR I 5 R A



$4E FHHE Chapter 4

BRIFRES, S FEREER, K412 8 X T — MW lastIndex, WAE 5 F 45
BIEE RO E RG] ARJE ARIRIR R SRS B AL 745 85 R S ERGEHAE

let lastIndex = courseTitle.endIndex

let lastCharacter = courseTitle[lastIndex] | @® { O error

H4.12 FHPEREEE5

IBCHE 5 A H3 45 SR A 0 TE 0 7 O AR A B A R BT RG] AR A
B A e — A AT A 4013 TR

//let lastIndex = courseTitle.endIndex
let lastIndex = courseTitle.index(before: courseTitle.endIndex) String.Index
let lastCharacter = courseTitle[lastIndex] g1l

B 4.13 FRBRLEREEFHGEAHF X

T B IR 7 B 8 45 TR B R ) BR A AT DL R E e A% R ROCH: A 8
Ffo wnlE 4. 14 P 2 SCH B middleIndex #7747 83 B9 A2 B2 AR 51 X LA
TFAT RGO B O S L 1) 5 R AL T 2. BV AT A ISR 3 AT 9 0 E L it 2 1]
PLE SRS PR DS middleIndex 251 4R B 8] 07 B 1 745 "1

let middleIndex = courseTitle.index(courseTitle.startIndex, String.Index
offsetBy: 2)
let middleCharacter = courseTitle[middleIndex] i

BA414 ZBRFHFEFEELEGFAHF

4.2.7 FHEWNTEH

FATH I RO AT B R — B I R — BT R A . B A4 2
— NIRRT WA BB R A O A TP R Qe AR
WCFEAF S R ER e ? B 4,15 8 T ROR A A B FAF R i studentName,
JEMK TR . BRI A Y kAN 4% AT LUSRTR Bl F AT R h S FE A R RG], RoR
207 R AT R DR GG O B B S AR ALE R R R R SR T A —
B4 M2 A% WA & T d, PRt B A5 <" R /N TR T A.

SCH T X ) #5 3R [ startPosition, endPosition ], 3 78 )\ startPosition |
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let studentName = "Liang Zhang" "Liang Zhang"
let spaceIndex = studentName.firstIndex(of: " ")! String.Index
let firstName = studentName[studentName.startIndex..<spacelndex] "Liang"

H{4.15 FRELFTHTE

endPosition Z [8] B IF & JC £ . f1 §5 startPosition 1 endPosition, H Hr, startPosition
Sy X 1] f) 2 1 7 8 2 51 - end Position g X 1] (4 25 3 B & 51

WA startPosition 745 AL IR (7 & . 5 ¥ endPosition S 74 5 1) 25 07
WU A] SR FH 2 JF DX U] 5 3 o BROA 808 MRS B 07 8 B8 R 07 8 03 DR O 8 3] 45 o A6
B WA 416 s, 2E R 4 TR i firstName2 £oR, 8 H]H & surname 7R, X
PN 53 437 2 DA B 7 5 1) 25 A% R DA 225 A B 45 TR 4 0 L 3R B JF X T) 8RB
I

let firstName2 = studentName[..<spaceIndex] "Liang"
let surname = studentName[studentName.index(after: spaceIndex)...] "Zhang"

A4.16 (ARXMEAFT EWHLERE

K A3 I SRR I A B, 1 o O AN AT AR 2R R TR — AP AR R 9 26 Y String
- SubSequence. 4 ZOH B AR O AT R AR I FE 2R H SR B e O AT R
Bl 417 BroR o 18 Z B USR] T 745 80 0 R O 1 H 5 HO R 19 7 4 A 4 1) T[] —
ey BL2S (8] 3K A2 [ AE AR FAT R N B MR AR TR N A . T R goR
i e 45 g A HS IR R T R — R A B S (] RO A A T R N A

10 let surnameString = String( "Zhang"

P ETEN]

let surname: String.SubSequence

Declared In

B4.17 FHEFEeEA

4.2.8 FHRHEHLEER

FTRLAA 3 A4 BE LU BT AT e L B4 RO AR LA B T2 AR A A R R R AR AR
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TS AS A H TP S AR [RGB, 9 B8 4 A R) D0 A2 4 R 2 L
Bl 4.18 FroR,

var compareStrl = "It is compare string." "It is compare string."
var compareStr2 = "It is compare string." "It is compare string."
if compareStrl == compareStr2 {

print("they are equal!") "they are equal!\n"

}
B41.18 FHaBMF
BEH T AT BRSO R AT AT T LA ] 5k hasPrefix O, 38 i %
D5 ¥ s AT LA B b ) DRy — > A 5 A 0 5 R Y AT R AT HLAA AR
theString.hasPrefix (thePrefix)
Kl 4. 19 % T 45 55 it bookInfol, ilid hasPrefixO) J7 ik H Wi i 7 4F 5 J& 15
A5 FE R AT " History book",

let bookInfol = "History book: world history" "History book: world history”
if bookInfol.hasPrefix("History book") {

print("bookl is a history book.") "book1 is a history book.\n"
}

B 419 KBB4 R AT
SOPNWT =7 A H b 5 A R B AT R R S AT DA D5 i hasSuffix O, BARS
B
theString.hasSuffix (theSuffix)

Bl 4. 20 5 ST 4T H R i bookInfoZ, AR T % AT HY = 1 AL E (1 ) B

"history",

let bookInfo2 = "History book: China history" "History book: China history"
if bookInfo2.hasSuffix("history") {

print("book2 is a history book.") "book?2 is a history book.\n"
}

H4.20 HABFHFEHHTER
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%3]

L& X —A 745 878 & myHobbies . I HAE 4 /R B9 246 B 2 4. =0 3 4>
i JJi myHobbies “FAF 8 w1 A4S 45 IR FTED A5 B 16 BR 00T 19 L

2. AR5 1A FERE R AT BRI A AT T L AR AT BUR R 1
TE AT R — B, A4

3. B XWAFAFE R & strl Bl str2, 43 BB A "My hobbies" "is" . & L — > F4F
AR info, JRIE R 3 DNFAFH strl str2 .myHobbies B U5 . FTEDFFFH info,

4. FESE 3 IR B ml AT info o (Y BRG] 22 )48 A 2S5 A% T EERTAT BN A .

5. FTERH 45 5 info Y KRB FI/NG A,

6. FF4F & 28 5 myHobbies ™7 Y 55 — A F BE R R 5 — > 5 BEICH IR AT B,
myHobbies HA 3 A 24HR K 55 A DRI B -0 Jl o A B R ST ok R
530 N AF H 8 I 6 R A A B B A R R R

7. 3s AT R A T AR G myHobbies W) 3 A2 R AF B 3 AN
FFAF R ST EN S D R R D BT A S Z RIS .

8. HES TR BER — AR AT R A A IR AT EN R A5 2R . KR
— PR E AR E TSR A R S AR E TR R R
FEAT BN th 45 2R

AEMIRR

Lo M A5 e 15 S 247 SO B AR D7 3 547 5 1 W0 4R A S 25 5 4 J A
NS R R (i tE

2. FATH IR BRSO D AT R T AT RO G0t VA AT R R B s T A
TR CF RN ING TR R TR BT TR B CA AT AR AR T
A HR ISR A AT R R A A

2K

(417 FHEHEX]

1 ESHAA-FA B A E LWE 4. 21 Fis .



var schoolName = ""
var universityName = String()

B 4.21 % 18R ERD-FHF BT L

52 WS- R LA 4. 22 FiR

if schoolName.isEmpty {

print("School Name is empty!")
} else {

print("My School is \(schoolName)")
¥

B 4.22 %2 AHERE-FHFE L

55 3 B2 RS- F4F 5 12 AN 4. 23 iR

universityName = "Beijing University of Aeronautic and
Astronautic"

if universityName.isEmpty {
print("University Name is empty!")
} else {

print("My University is \(universityName)")
}

B 4.23 H3MARFRA-FHSHEL

5 4 B S 25 AT AT H R E AN 4. 24 TR

var myUniversity = ""

myUniversity = universityName

print("My university is \(myUniversity), University Name
is \(universityName)")

myUniversity = "Tsinghua University"

print("My university is \(myUniversity), University Name
is \(universityName)")

B 4.2 FH A HAFERE-FHFEGEL

(4.2 ZFHFHEIIRE]

9 1B SH AL T4 B A ERAE QAT 4. 25 TR
var myHobbies = "Music Basketball Philosophy"
for char in myHobbies {
print(char)

}
B 4.25 % 189 2K RA-FAF ) B4k

Chapter 4
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% 2 B S -4 B R 4. 26 s,
print("The number of characters in myHobbies is \(myHobbies.count)")

B 4.26 % 2 A KK AR AG-FAF B g B4k

%3 IS -F 455 B R K 4. 27 o,
let strl = "My hobbies", str2 = "is"
var info = strl + str2 + myHobbies

print(info)

B 4.27 5 3 H5E R G-F 45 B ah 5

55 4 B Z B AU AT B AR AN 4. 28 FR

let space = " "
info = strl + space + str2 + space + myHobbies
print(info)

A 4.28 #H AMehKAERAG-FF SRS

55 5 U ZH -7 A5 B BRI 4. 29 FR

print(info.uppercased())
print(info.lowercased())

A 4.29 % 5Mey AHERL-FAA SR

55 6 B Z H AU A7 B I ERAE AN 4. 30 BIR

let firstIndex = myHobbies.startIndex
let firstChar = myHobbies[firstIndex]

let lastIndex = myHobbies.index(before: myHobbies.endIndex)
let lastChar = myHobbies[lastIndex]

var middleIndex = myHobbies.index(firstIndex, offsetBy: 6)
var middleChar = myHobbies[middleIndex]

middleIndex = myHobbies.index(lastIndex, offsetBy: -20)
middleChar = myHobbies[middleIndex]

B 4.30 % 6 A HRAE-FIF B eI
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557 S % AU AT R ERAE AN 4,31 R

var spacelndex = myHobbies.firstIndex(of: " ")!
let hobbylst = myHobbies[firstIndex..<spaceIndex]

firstIndex = myHobbies.index(after: spacelndex)
let restOfMyHobbies = myHobbies[firstIndex...]
spaceIndex = restOfMyHobbies.firstIndex(of: " ")!

let hobby2nd = restOfMyHobbies[restOfMyHobbies.startIndex..<spacelndex]
firstIndex = restOfMyHobbies.index(after: spacelndex)
let hobby3rd = restOfMyHobbies[firstIndex...]

print("The first hobby is \(hobbylst)")
print("The second hobby is \(hobby2nd)")
print("The third hobby is \(hobby3rd)")

B 4.31 % 7ML EREG-FIF 6 R

55 8 WIS -7 4T 5 IR AN 4. 32 iR

//compare hobby
if hobbylst == hobby2nd {
print("The two hobbies are equal.")

}

if hobbylst.hasPrefix("musi") {

print("The first hobby: \(hobbylst) has prefix: musi")
} else {

print("The first hobby: \(hobbylst) hasn't prefix: musi")
}

if hobby2nd.hasSuffix("sophy") {

print("The last hobby: \(hobby2nd) has suffix: sophy")
} else {

print("The last hobby: \(hobby2nd) hasn't suffix: sophy")
}

B 4.32 % 8HMAAERA-FH S RME



